
Divide by 4

4. Match the representations to the calculations and complete the calculations.

5. Complete the statements using  > <  or =.

6. Helena and Jamie are discussing a calculation.

Who is correct? Explain your answer.

36  ÷ 420  ÷ 4
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28  ÷ 4

This bar model shows that 

sharing 32 into 4 groups is 

equal to 8.
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20  ÷ 4  =  

36  ÷ 4  =  D.

E.

F.

This bar model shows that  

dividing 32 by 8 is equal 
to 8. 

Helena Jamie

Homework - Yrs. 3&4 - Week 3                                       Due Tuesday, 7th Dec.




